CHASSIS

T4578 ~188

Part Number Ref. Description Serial Number No.
No. Req'd.
- STEERING CLUTCH

46 040 D 1 RETAINER, steering clutch release shaft bearing felt 2
179 860 BOLT, hex-hd., 7/16" x 1-1/4" 4
103 322 WASHER, lock, 1/16" 4
46 038 D 2 FELT, steering clutch release shaft bearing 2
3041 841 Ril 3 BEARING, steering clutch release shaft 2
3041 842 R1 4 BUSHING, steering clutch release shaft 2
3041 840 R21 5 FORK, steering clutch release, epte., w/BUSHING 55 955 DA 2
55 955 DA 6 BUSHING, steering clutch release fork pivot 2
55 954 DA 7 PIVOT, steering clutch release fork 2
47 126 D 8 NUT, lock, steering clurch release fork pivot 2

Group 3 Page 44 .




CHASSIS &

Part Number Ref. Description Serial Number No.
No. Req'd.
STEERING CLUTCH - continued
43 729 DB 27 FACING, friction, steering clutch 24
3042 170 R1 28 RETAINER, steering clutch pressure spring 2
3106 768 R1 29 SPRING, pressure, steering clutch 2
705 862 R1 30 HUB, steering clutch 2
8 155 DB 31 PLATE, pressure, steering clutch 2
54 969 D 32 BOLT, dowel 8
103 322 WASHER, lock, 7/16" 6
51 430 DX 33 SLINGER, oil,steering clutch pilot bearing, cpte. 2
709 504 R2 34 DRUM, steering clutch 2
751 633 R1 BOLT. special 16
103 321 WASHER, lock, 3/8" 16
51 433 D LUBRICATOR, steering clutch pilot bearing up 1w BTD-6/20256 2
3071 433 RS2 35 BEARING, pilot, steering clutch ) optional 2
3071 297 R92 BEARING, pilot, steering clutch ) 2
258 278 R1 36 NUT, steering clutch pilot bearing retainer 2
3106 930 Rl a7 GASKET, steering clutch 2
701 014 RO1 COVER, steering clutch lubricating port, cpte
(see Mainframe) up to BTD-6/20256 2
705 864 R91 PACKAGE, service, steering clutch, cpte. X
(comprising
: 1 HUB 705 862 R1 1 RETAINER 8 156 DA
i 1 PLATE 6 659 DA )
i
!
i

Group 3 Page 46




